
q2 bin [GeV2/c4] Nφµµ
dB(B0

s→φµµ)
B(B0

s→J/ψφ)dq2
[10−5 GeV−2c4]

dB(B0
s→φµ

+µ−)

dq2
[10−8 GeV−2c4]

0.1 < q2 < 2.0 85+11
−10 5.44+0.68

−0.64 ± 0.13 5.85+0.73
−0.69 ± 0.14± 0.44

2.0 < q2 < 5.0 60+10
−9 2.38+0.39

−0.37 ± 0.06 2.56+0.42
−0.39 ± 0.06± 0.19

5.0 < q2 < 8.0 83+12
−11 2.98+0.41

−0.39 ± 0.07 3.21+0.44
−0.42 ± 0.08± 0.24

11.0 < q2 < 12.5 70+10
−10 4.37+0.64

−0.61 ± 0.14 4.71+0.69
−0.65 ± 0.15± 0.36

15.0 < q2 < 17.0 83+10
−10 4.20+0.53

−0.50 ± 0.11 4.52+0.57
−0.54 ± 0.12± 0.34

17.0 < q2 < 19.0 54+8
−7 3.68+0.53

−0.50 ± 0.13 3.96+0.57
−0.54 ± 0.14± 0.30

1.0 < q2 < 6.0 101+13
−12 2.40+0.30

−0.29 ± 0.07 2.58+0.33
−0.31 ± 0.08± 0.19

15.0 < q2 < 19.0 136+13
−13 3.75+0.37

−0.35 ± 0.12 4.04+0.39
−0.38 ± 0.13± 0.30


